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Find the measure of each numbered angle in this figure.
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Write an equation and solve for all three angles in each of these situations. Remember that the three angles
in a triangle always add up to 180 degrees. (for example: m<D + m<E + m<F = 180)

1. InADEF, m<Eis 'rhr'eg times mzD and m<F is 9
less than m~<E. What is the measure of each?
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2. InARST, msT is 5 more than m<R and m«S is 10
less than m2T. What is the measure of each?
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3. InAJKL, mzK is four times m~J, and msL is
five times m~J. What is the measure of each?
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4. In AXYZ, msZ is 2 more than twice m2X, and
m2Y is 7 less than twice m2X. What is the

ure of each? =
T ax=T S X =80

SX=(3S

X W2 72 X= S

X S et
msX = 3 2 ,msY = 6(-’ ,msZ = 7(’




